
Accelerated math. Homework 15.   

Problems marked with * are more difficult.  

 

 

1. Evaluate the following expressions (hint: try to use the most efficient way to do it, do some 

steps using decimals and other using normal fraction): 
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; (Answer is 0.4) 

 

2. Simplify the following expressions (rewrite the expressions without parenthesis and combine 

like terms) 

a. 7𝑎 + (2𝑎 + 3𝑏); 

b. (5𝑥 + 7𝑎) + 4𝑎; 

c. 3𝑚 − (5𝑛 + 2𝑚); 

d. 6𝑝 − (5𝑝 − 3𝑎); 

e. 48𝑎 − (2𝑎 − 2𝑏) − (14𝑏 − 28𝑎) + (24𝑏 − 18𝑎); 

f. 5 − 7𝑎 − (8 − 6𝑎) + (5 + 𝑎); 

 

 

3. Among 100 university students 48 are studying English, 26 are studying French, 28 are 

studying German, 8 are studying English and German, 8 are studying English and French, 13 

are studying French and German, 24 are not studying any language. How many students are 

studying all three languages?   

 

4. Simplify: 

 

 

 

 

5. Triangle ABC is a isosceles triangle. |AB|=|BC|.  

𝐵𝐴𝐶 +𝐵𝐶𝐴 = 52° What is the measure of the angle 𝐵𝐴𝐶? 

 

 

 

 



6.  In the triangle DAC, |𝐷𝐸| = |𝐸𝐶|, what is the measure of the 

angle 𝐹𝐸𝐶, if the angle 𝐷𝐸𝐶 = 104° 

 

 

7. Rewrite without parentheses. 

Example: (𝑏 + 2)(2𝑏 + 3) = (𝑏 + 2) ∙ 2𝑏 + (𝑏 + 2) ∙ 3 = 𝑏 ∙ 2𝑏 + 2 ∙ 2𝑏 + 3 ∙ 𝑏 + 3 ∙ 2 = 2𝑏2 +
4𝑏 + 3𝑏 + 6 = 2𝑏2 + 7𝑏 + 6 

a. (𝑎 + 1)(𝑎 + 1); 

b. (2 + 𝑦)(𝑦 + 3); 

c. (1 + 𝑥)(1 − 𝑥); 

d. (𝑥 − 𝑦)(𝑥 + 𝑦); 

e. (2𝑎 + 𝑏)(𝑎 + 2𝑏); 

 

 

 

 

 

 


